i) LYl zeliall 2Bge (o calall s AMiamat T Ss

Sl ol il >

cilod] = W) Vsl = cbd = pladl palal] Cadll < Lol LY zaliol) = zoliol] 2840

cladl paled) Ciad) o s laiz ) ol gl

clali e pladl paladl Casdl alge Ll

ol ) sl aall) i 423 dall dno N dy i)

) i) 5 el0 alatly pladl pslad) Ciad) oy cslilad] (e 20l

zasn (Byell (Sl G alil] > 1
Zas (oSN lll i altl] > 2

| blgd) ylxiad] ali] 3

aoaxd) (o5l ISUll 3 Zlgial) (uilgdy daxl e 4

gl Sell a8y aliu] » sy > 5



https://almanahj.com/ae/id=21815
https://almanahj.com/ae/10physics3
https://almanahj.com/ae/10physics
https://almanahj.com/ae/10
https://almanahj.com/ae
https://almanahj.com
https://bit.ly/3dQkKVk
https://bit.ly/3cnrM5Y
https://bit.ly/3clNMhN
https://bit.ly/3f8IKXE
https://almanahj.com/ae/id=22370
https://almanahj.com/ae/id=22347
https://almanahj.com/ae/id=22055
https://almanahj.com/ae/id=21928
https://almanahj.com/ae/id=21817
http://www.tcpdf.org

Which of the following quantities represents:

“The ratio of the object height to the image

height ?

10e el A NEN s (gl
plal ) J ok dand Joala
A5 s Jsda (e A5 S B e

PHY.6:3.02.009 o ‘

focal length (f) o3 2=2)

inverse of focal length (1/f)  (s_3 2=l o 5las

magnification (1)

i inverse of magnification (1/m) nsall o sl

32.0cm

: 82cm _28cm

The ray diagram shows i
how an image is formed
by a converging lens.

30em

How tall is the image
h)?

Mot to scale
A Cael el A gl

‘h’.iaehiiil‘-.m_)l’l et
By gaaall (JS.55 S 48.<
Amam e dene Alausl g
(h;) 3 =il Jskla
FUASSN 8 45 g<nall

| Sl Ssmalmdl cilesmadl |

PHY.6.3.02.013 o |

Which of the following
optical devices can be

found hidden under piece A7?

1 | - SRR, | I [NE N 4 IS |
CA S=lasll Cali la glas) o5

Convex mirror Foam o Bl ya

Concave mirror B ymBa Bl ya

Convex lens

FHY.6.2.02013 o |

Concave lens




As shown in the figure. Which of
the following formulations
correctly expresses the values of
incidence angle 6; and reflection
angle &, ?

S JSE ) sl

Sl Sl 5l el g1 sl
6; Jagiadl gl el eyl

S (S5 g, OASAN

| Syl Esaslmall ol
PHY.6.3.02.01

lam of (1.5m) height stands
(0.5m) away from a plane
1ror, depicted his image as
own in Figure.

hat is the 1image's type and
w far away is it from

lam?

(1.5 m) 4dsls oSl 125

A A ghies Bl se (B AT 5 )
9o LaS ¢ (O_Sm) Aaliua alic
_dsa.ﬁ'lg.ica.hy

?‘a)‘...u‘:):_ LA.A:;._::SJ,..:J!E_EL.

(Virtual, 1.0m)

(Virtual, 0.5m)

(Real, 0.5m)

An object placed in
front of the convex lens
as shown in the figure.

Determine the location
of the image (Gf any)?

LASEN L5 LS Soas )
B seaall 5 5S5 a8 5 e

(a5 O )

tnail Cileyseatl |
= ¥
PHY.6.2.02012 o ‘

No image is found 3 5= OS5 Y

Position A &3 5=

Position ID 23 5=



Gsas alal s ai
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T35 sl o paanll oy 588

As shown in the figure,
an object is placed in
front of the concave lens.
What happens to the
image’s properties as the
object gets closer to the
image?

s A o )

PHY.5.3.02013 = ‘

Stay the same o LS B85

Appear behind the lens Soua=ll Cals g lins
Become enlarged B S peaeal
-]
Become inverted slia peai

oo e EWEN o Ll g

As shown in figure, light
falls on a reflecting
surface. Which of the
statements below is
incorrect?

PHY.6.3.02.

A light beam falls perpendicular to a O Sealdl) =Ll e Lo sae (5 giia gl dads

surface that separates two transparent . syai - A as)
mediums: their refractive indices differ. T Ve N == =2

Assume (n,- > n;) 1 = 1) T
In this case, which of the following formulas| _ o= e :‘7-"""‘:‘“ gy A fyuel) &' “"—:‘1;_-“ wI% i
describes the relationship between incidence] - (8, kel (0, il iea) § Sias I KT

el o atieoaes amerloae N A £ T D

PHY.6.3.02.010 o




Which of the following optical instruments Leatans 3061 45 yanll <l gy (gl

has a reflective surface that is curved Aldls 5 oz HAll Hate GeSlal)
outward, and its edges curve away from ClasSlall e Tlaams 3

the observer?

PHY.B.3.02.007 o

Concave mirror 3 =il 3] )l

Convex mirror  Jpasall sl sl

Concave lens B y=8all A=l

Convex lens EEEEN | [ UUETA |

Which of the following statements is i 3 A0EN jlalt
true about the spherical aberration of o i W Lot ot N <u A .'§L: s

concave mirrors?

[ IS | JRCES RN WNEE | BN |
slal s g A5 o ST L) sl
P WA SR | SRR S
Ll Slaead) il e Lealasiog
e 3alass ZWEN c slaal) (g
Tiuas N LY al

L At Aymatoathl, il it §

PHY.6.302007 @

Concave mirrors are a type

of curved mirrors.

They are used in daily life such
as side-view mirror. Which of
the following statements
correspond to convex mirrors?

The image can only be seen from a Sae e B sl Jan 5 OSen
few angles Ll s 30 e (SIS

Enjargfa the area that an observer sces Tl 5 A Jlee aaldy of dasSial e:—f—';:-‘

The objects appear to be larger (.3 42l s Laa 581 2l ™) Lgad o
than they really are Asa=0)

Sometimes. the objects appear to be \ \ T - wy
far away than thevy are. w® i = N =



rour students are fosing four different | sy o i oot o
: 1N ool (8 LaS agia (IS8 =t
shown in the table below: ! - ol o2
Saif —a Hamad >~> | Saeed = Rashid 23, | Student —iUall
3 has - Aldina 5 _kuas Ao glia A glica — AlXina B _uSa  Alina 5 seall & 58
Reduced- upright | Reduced-inverted Same size - upright | Enlarged-upright Image’s type
nall Sraslndl Olesaall L‘
Rashid and Hamad Qas g 3,

-b
Saif and Hamad B e e

Only Saeed e )
Only Rashid B B )

Where should the object , image
be positioned in front of h
the concave mirror, as
shown in the figure, such
that its image appears
behind it?

e B allall 281 gall (g aic
?l.ai(agﬂ_;j‘&a.h"(.__l_;;!{_jsﬂ.“
d:i_)_’m_)‘_}&ﬂ‘s_)ﬂajlgi_).o“

Tlgals

- Akbugiedl Ssaslasl Silessall

PHY.6.2.02.008 o

Position 1 a2 51

Position 2 a3 5<0
Position 3 a3 5l

.
Position 4 A3 sl

Which diagram correctly represents [ an Lash e

the paths of the rays and the position c:i g ‘__\-;u;! "; = e _‘-‘ui_

of the image for the given mirror? RSN f_‘ r;\ e
EEECN

PvEIEz008 ®




B H ;‘w‘w;y&lﬁdﬁﬁ:\g
H _,A‘_A.S‘_)i.j_hgn_,‘__,_‘}

to a AASEN 8 e g

i B8 5all () gam Wy S ilmSau™

e L AR T UL S, [ e X
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Diamond PRET TN 4 |

| Quart= 53 51 sSW

Ethanol J_s3LELN Y

WVWoater PR 1)
Which of the following statements is i M i Al el et i
true about the spherical aberration of _E‘.i.%] W o \ o
lenses? ) e

| dbmall dastadl Sleyall -

PHY.6.2.03.001 = ‘

Inability of a spherical lens IS marent e do 5 S dnall 3538 ane

to focus all parallel rays to a single point sasl g Adadi 8 A 3 giall Aa3Y) | ‘
|

All parallel rays focus on the same RPN W P P B (- Sy ]|
position Alil a8 gl

It can only be seen with concave lenses a5 ymial) Cilioad) 8 afaaliic Sy

This is seen as an apparent ring of color IDa e al) LIl die aea Bl selay
around an object viewed through a lens OsIVL Usla o Al

Which of the following statements Lagd daim i 300N <l L) (6
about a concave lens is true? €5 ymiall denelly 3laty
|l i Sttt sl

PHY.6.3.02.013 o

Its focal len is positive

Its focal length is negative lls (g ) 5all Laa=s j

Displays real images

t has infinity focal length LWL 8 (g 55l Laamy _




What occurs to a light ray, when it falls
at an incidence angle of (50.09) from

water to air?
(Mwater = 1.33 ,n4i = 1.0)

Cre oSy Lanice s’:"&‘ \&L._.i':nsi:_\;__tll\l_n
£(50.00) A2 3 elsell L el

(n.=133,n,, = 1.0)

" /.

PHY.6.3.02.011 =

Refracts along the boundary Aalall =Ia WL 5 ge eSSy

Reflects internally in total Liss LIS LilS=i) | juS=iy

Refracts in air by an angle o9 el sell (B2 ST,
less than ( 50°) (509 o= J8i

Refracts in air by an angle Aol 30 o) sel) (B Sy
greater than ( 509) (50°) o= sSi

‘What quantity do we get when

dividing the speed of light in a vacuum

umLﬁhLL.aajuJH:\.'hﬂiL.
@&ﬂ&&]ﬂ|£ﬁﬂ1iﬂy

by the speed of light in a medium? L

- Amapall Sesdadl Slepsadl

PHY.6.3.02.010 o

the index of refraction of the medium B IV | I G| dabui

the critical angle Ao sl a6 50

he wavelength of the light in the medium dos gl 8 e gl o gl (J slal)

the frequency of the light in the medium

A convex security mirror has a
(—0.25 m) focal length. A (1.0 m)
tall forklift is (6.0 m) from the
mirror. What are the image’s
position from the mirror and type?

(-0.25 m) 550 Wasd Zoani A8 a5 e

axd e (1.0 m) Led obo A0S b 38l ) Camaa g

Ge LS gem 225 S5 31 yal) 5e (6.0 m)
Tlee s lag o3l yal)

| Al A Sleymall

PHY.6.3.02.008 o

(0.26m.Real) (3552.0.26m)

(0.26m,Virtual ) (32 52353 <0.26m)

(0.24m.,Virtual ) (32 028 <0.24m)




Mariam observed the ball’s g
image in Position B.

Where is the location of the| &3
ball’s image that will be Szt

é;ﬂ';)ﬂﬁf&ﬁm
54 41 3 B i
BN SPRVN g
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‘What happens to the refracted e gzl JUEB die HueSiall gl 3 G 13l
beam when light passes through air ol (e 03l A8 e 51 T o) sl e
to glass and then back to air? To oal B ya elsedl N

n . >n
nglass > Ngir (A =l

| dasyell petadll Slephall

PHY.63.02010 =

it refracts away and then
toward the normal

it refracts toward and then
toward the normal

it refracts toward and then Aliall 5 ganll e "L yiee sy
away from the normal e Tlamtie sy ‘;,

it refracts away and then

away from the normal

A student draws three =

. . - EA S - “ ]
rays of light from point = T “:'“_‘T'DL' s i
(p) through a converging N/ @) :“L—‘-‘-‘ D lpSiaD puda
lens. = = LAam e duee DA L'J—"
Which of the rays are \]}?% Leans 3 a3 A IV e (51
drawn incorrectly? Ty Z gL oy g Crumia pe JSd

| Supall el Slspaall |-

PHY.6.3.02.013 o ‘

Ray (X) and ray (Y) (Y) glasdll 5 (X) gl

Ray (X) only L (X)) gl

Ray (Z) and ray (Y) (Y) gl 5 (Z) g laiill

d

Ray (Z) only Lass (7)) gl E

The radlus-ofcu-rvamre ofa AL G B sl i Yy
concave mirror is (15.0 cm).

<5l A P
What is the mirror's focal length? T2l sall o3¢ (5 55l anil Le

| Sl Gastatil cilaymant -

PHY.6.3.02008 o ‘




